25

BIFE / Product Number

AUX

H~F %

H dimension

Wtk

W dimension

D~Ti&

D dimension

BT =HI)LT—4 / Technical Datall

#E{ThILY / Recommended torque : 0.3N*m ~ 0.6N*m

A

TILZE

Aluminium Feet

B E R{L#k / Original trapezoid head screw specification

EX (P /H)

Screw (P or H)

BiLHk

Color Type

F¥ERLINZ / Components

No. 2 %R / Part name #M= / Pcs #&E / Material & - R / Color-Finish
: a—F—7Javy 4 TILEF 1 Fv X+ ADC12 DIIN— | TSy FE (NERENIE)
Corner block Diecast aluminium ADC12 Silver , Black-Painted (Unfinished inside)
) R 4 TILSIRHHA AB063S-T5 DIWIN—  TSZVT-TILIARRI) T EE
Frame Extruded aluminium A6063S-T5 Silver , Black=Anodized with clear coating
3 H8— 1 7 LR A1100P DIIIN—, TSV T LA+
Top cover Aluminium A1100P Silver , Black*Anodized
4 Th— 1 7ILZHR A1100P DIWIN— , TSYT-TILIAh
Bottom cover Aluminium A1100P Silver , Black*Anodized
5 TR 4 FILE & IYavTd L DIWIR— TV T & TF9Y
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
6 ER{HE X (IMM3 x 8) 16 E L AYE
Screw (Flat head M3 - 8) Steel Nickel plated
; HB{TE R (E#M3 x 5) g % ZurLAyx | ZflE/AA—+
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
8 BAFER (N1 KM4 x 8) 4 E =R OA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate

E’ 7S X / Phillips 7NF / Hexagon—socket
£ 1t%k / Color Type
E28 / Code a—7+—27J0v% / Corner block {I#R / Frame $Hs8— / Top cover | FH/\— / Bottom cover | ZILZE / Aluminium feet
S S < JLsN— / Silver < )L7S— / Silver < JLsN— / Silver < JLsN— / Silver < )Ls\— / Silver
S B 7594 / Black < )L13— / Silver < )Ls3— / Silver < )LsN— / Silver < )LsS— / Silver
B X 7597 / Black 75v% / Black < JLsN— / Silver </ JLs\— / Silver < )Lsx— / Silver
B B 7594 / Black 75v% / Black 7594 / Black 7594 / Black 75974 / Black

4/ Title
TAKACHI| BASHAFINWFEHIEX 7ILEarka—ILIRYI R @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
&R/ Approved #%[X]/Checked &[] /Created & /Product number RE/Scale
iR £ A AUX222-25-25A0-0 —
N— /Page
{ERX B /Date 2025/06/11 1/ 6

AREDEFIEIHRXESHIDTFER T EIZRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




242

D view

B-B(1:55)

198.5

251+0.5

221.5+05

10

2135

B view

p— p—
E view C view F view
251%+0.5
5 —
. = P =
A A
: J
B —
A view C-C(1:55)
C C I[
3 3 o
o
1Y
203
A-A(1:55)
4/ Title A —
TAKACHI| HARIHFERIE 7ILIarka—ILRys R © L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
B/ Approved X /Checked #1[X]/Created FIFE /Product number RE/Scale
) 1:55
chip I i AUX222-25-25AC1-C1 01 -
249 N— /Page
{ERX B /Date 2025/06/11 2 /6
AREDOEFEIIRISHIDTFEMRITEIZFELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A ¥R / A Frame

219.5

14

M / Front side

B {BI#x / B Frame

M / Front side

200

&

2-M3FHY37%
2-M3 Countersunk

X REEEHE / Same on the other side.

KD |
&

213.2

22.5

3.3

3.3

E M / Back side

ZE M / Back side

4/ Title
TAKACHI| BXEH4DhFERIE {81 (} C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
&R/ Approved & /Checked #IX]/Created R /Product number RE/Scale
1:3
iR £ fiE] A R—/Page
H222 - W250 {ERX B /Date 2025/04/30 3/ 6

AREDEFIEIHRXESHIDTFER T EIZRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C {8l#® / C Frame

219.5

14

M / Front side

D {l#% / D Frame

FRME / Front side

200

&

2-M3FHY37%
2-M3 Countersunk

¥ REEEIHE / Same on the other side.

KD |
&

213.2

22.5

3.3

3.3

Z & / Back side

ZEm / Back side

4/ Title
TAKACHI| BXEH4hFERIE {81 @} C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved X /Checked #HIX]/Created R /Product number RE/Scale
1:3
iR : Bk e
H222 - D250 {ERX B /Date 2025/04/30 4 /6

AEEOEFEIIRARIHINDTFERIEICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




239.4

4-R14.7 990 4-24.5 9

E#~ti% / Max dim. 203+0.5

<
. o
3 S
{REEL—MAY
Surface protective film side
A#h~F% / Max dim. 203+0.5
@ / Front side ZZM / Back side

4/ Title
B RHINTFEMTE Py o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
72/ Approved %X/ Checked HIX/Created | E!F/Product number Rrﬁ/;s.czalg
thiR 3 B e
W250 - D250 {ER B /Date 2022/11/16 5/ 6
AREDOEFEEBRASHIDTFEMRIEICIRBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. All Rights Reserved.




4-R14.7

239.4
220
1914

M / Front side

239.4

220

191.4 4-24.5 2

REES—HA

Surface protective film side

A#h~ti% / Max dim. 203+0.5

o)
J

4-M4

B#~TiE / Max dim. 203+05

7 / Back side

4/ Title
BRI FERTR Fhri— o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
72/ Approved %X/ Checked HIX/Created | E!F/Product number Rrﬁ/;s.czalg
thiR 3 B e
W250 - D250 {ER B /Date 2022/11/16 6 / 6
AREDOEFEEBRASHIDTFEMRIEICIRBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. All Rights Reserved.




